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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING

Model Question Paper

Annual Examination
SESSION -2024-2025

Class9 | SUBJECT-English | TIME- I Hour & 30 Minutes | FM- 40

INSTRUCTIONS:

» Total number of questionsis 40.

» Each question carries 1 mark.

» Four options are given.

» Studentsare expected to select the most appropriate answer.
» All the questions are compulsory.

» No markswill be deducted for wrong answers.

Read the following passage and answer the questions from 1-5.

Science has made a significant Contribution in every aspect of modern life. Every person feels
the effects of science in day-to-day life. Science has made life easier. Modern technology has
also made life easier. For example, Cookers, Induction plates, micro- wave, ovens, mixtures etc.
The food that we eat, the clothes that we wear, the books and papers that we read, the recreations
We enjoy, the games that we play - all have some of the other things to do with the application of

science.

Technology has undoubtedly made our lives better but for their cosy efforts people tend to be
dependent on it so much that they can't even Imagine living without fit.

1. What is the contribution of science in our modern life?
a. significant contribution b. normal contribution
C. no contribution d. average contribution.

2. How has science made our Lives?



a. tough b. hell

c. dull d. easy

3. Through which technical things are used from domestic life to the industrial sector?
a. philosophy b. science

C. bio-technology d. metaphysics

4. What is the synonym of UNDOUBTEDLY?

a. Certainly b. doubtless

c. evidently d. all of these

5. What is the antonym of SIGNIFICANT?

a. insignificant b. unimportant

c.bothaand b d. important

Read the following passage and answer the questions from 6-10.

Once a bee felt thirsty. It flew to a pond to drink water. While drinking water, the bee fell into
the pond. A dove was sitting on the branch of a tree. It saw all and decided to save the bee’s life.
The dove threw a leaf. The bee climbed over the leaf, dried its wings and flew away.

After a few days a hunter came to the forest. He aimed at the dove. Luckily the bee saw the
hunter. It flew to the hunter and stung him hard on the hand. The hunter missed his aim. The
dove heard the gunshot and flew away. The dove thanked the bee for this timely help.

6. Where did the bee fly to drink water?
a. a canal b. a pond
C. a river d. a stream.

7. What happened to the bee while drinking water?
a. It fell from the tree b. It fell into the pond
c. It was shot by the hunter d. None of these

8. Who saved the bee’s life?
a. a dove b. a hunter
c. afish d. a tortoise



9. What did the bee do to save the dove’s life?
a. It killed the hunter b. It did nothing
c. It shouted hard d. It stung the hunter on the hand

10. What is the moral of the story?
a. Do good, have good b. Revenge is the best policy
c. Pride hath a fall d. Union is strength

I1l. Assume yourself as Sunita/Suresh, write an application to the Headmaster of your
school, asking him to make books available in the school library. Complete the formal
letter by choosing a suitable given option from 11-15.

To,

(11) ,

G.V.H.S, Silli.
Sir,

We have a library period of forty-five minutes every Saturday. We cannot make
(12) . It is because many books are not available in
the (13)

On behalf of my class, | request you to add some more books to the library. We shall
be (14) to you.

(15) ,

Sunita/Suresh
(Monitor), Class — X B

Roll No. 06

11.

a. The Headmaster b. the Headmaster



c. the headmaster, d. The Headmaster,

12.

a. best use of this period

b. the best use of this period
c. best use of the period

d. the best use of the period

13.

a. hostel b. school hall

c. classroom d. school library
14.

a. thanking b. thank you
c. thanks d. thankful

15.

a. your obediently, b. Yours obediently

c. Yours obedient d. your obedient,

Choose the correct option to fill in the blanks:

16. The thief had the things last night.

a. steal b. stole

C. stolen d. steals.

17. Did you that your gold chain was missing?

a. notice b. noticed



c. noticing d. none of these.

18. He will soon.

a. recovering b. recovered
C. recover d. recovers.
19. Who Rohit yesterday?

a. see b. will see

C. seen d. had seen
20. _ in and sit down.

a. come b. coming

c. came d. comes.

21. Which of the following sentence is in Simple Past form?

a. Right now | am studying a novel.

b. The bell had rung ten minutes earlier.
c. | remember your face.

d. Seema heard a nasty sound.

22. Fill in the blanks with suitable Non-finite options-

We eat
a. to arrive b. to live
c. to start d. to lift

23. Fill in the blanks with suitable modal verb.
God bless you!

a. Might b. Must c. May

d. Can

24. Which of the following sentence is in Simple Present form?



a. lwill play tomorrow. b. I am a teenager.
c. Last year | travelled to Kanyakumari.  d. None of these.
25. Choose the suitable preposition to fill in the blank:
The soldiers are _ war.
a.in b. at c. of d.on
Choose the correct option for the given questions from 26-40.
26. The lesson “The Sound of Music — Evelyn Glennie” is about a
a. percussionist b. traveller
c. player d. scientist
27. Who got the old book from the attic?
a. Margie’s mother b. Margie
c. Tommy’s grandfather d. Tommy
28. Who is the author/writer of the lesson, “The Fun They Had™?
a. Katherine Mansfield b. Deborah Cowley
c. Issac Asimov d. none of these

29. What does the word ‘Santosh’ mean?
a. greed b. bravery

C. contentment d. none of these

30. How did Santosh feel after reaching the top of the world?
a. it was a spiritual and proud moment b. tired
c. exhausted d. fatigued

31. Who thought of improving the sound of the Pungi?
a. a musician b. a singer
c. a barber d. none of these

32. Which of the given poems is written by Subramania Bharati ?




a. Wind b. Rain on the Roof
c. OnKilling A Tree d. No Men Are Foreign

33. What did the poet want to create for honeybees in the poem, ‘The Lake Isle of Innisfree’?
a. trees b. hives
c. flowers d. none

34. Robert Frost’s poem is —
a. Wind b. The Road Not Taken
c. OnKilling A Tree d. none of these

35.”The Legend of Northland is written by

a. William Butler Yeats b. James Kirkup

c. Phoebe Cary d. Coates Kinney

36. Where did the Swallow die?
a. in the city b. under the fountain
c. at the feet of the Statue d. in a house

37. What serves as a third hand to a monkey?
a. his mouth b. his talil
c. his legs d. his teeth

38. What did the parents say when the child lagged behind?
a. ‘Come, child, come’. b. ‘Come, or you,ll be lost.’
c. ‘Come, have these toys.” d. ‘Come, we are getting late.’

39. Who broke into the merchant’s house?
a. king b. silly minister
c. disciple d. a thief

40. Where did the tusker escape, in the story - “Iswaran the Storyteller™?
a. into a cage c. to a timber yard

b. in the forest d. none of these
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% There is no negative marking for any wrong answer. UK
ITAL * o1 IS 3 A1 1S SATU|
1. TXe+6x-2 ¥ X T I0TTH &:-
The coefficient of X in 7x2+6x-2 is-
A 2 B. 6 C.-2 D. 7
2. Mg a9 aATH I H Igug 872
Which of the following are polynomials in one variable?
A 3Vx +xV2 B. Vx+2  C.4%+/3x-7 D. IAH &S A8l
3. X-2x+5 FEIR &:-
A Yg® B. Ga@  C. Framar D. AR AL A-I
X2-2x+5 is polynomial -
A. Linear B. Quadratic C. Cubic D. None of these
4. 992- 982 FT HIT g:-
The value of 992-982 is:-
A 1 B. 187 C. 197 D. 207
5. @3 (1,2),(-2,-3), (2,-3) Faa g:-
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11.

12.

13.

14.

A, TR e
C. g aqata

Points (1, 2), (-2,-3), (2, -3) lies in :-

A. First quadrant
C. Third quadrant

x-1e7 | &g (-3,5) T T 8-

The distance of the point (-3, 5) from x-axis is:

A. 3 HTTH

@1 U FS 9 [&§g o0 Th FT g g

Any point on the line x =y is of the form:-

A (k -K)

THFLT x+2y= 6 FT A 5:-

The solution of the equation x +2y= 6 is

A (2,2)

T AT LTSl T TATH gIal gi-

A THIT

The slopes of two parallel lines are:-

A. Equal

B. € =ty # g wgr @

D. =q aqata

B. Do not lie in the same quadrant

D. Fourth quadrant

S st it aft SpoITd STa Bf, 3E FEl ST g

A =T

A. Cube

B. A

The rectangle having all sides equal is known as:

B. 4 9= C. 5Hm =%
B. (0, k) C. (k 0)
B. (0,3) C. (6,0
B. FRUTeH rAardt - C.
B. Negative reciprocal C. Zero
C. @
B. Quadrilateral C. Square

g FHIOT ST 180° F AT TAT 360° | FH I, FgdTdT 2.

A, = FHO

B. gfdadt o

The angle which is greater than 180° and less than 360° is called:-

A. Acute angle B. Reflex angle

C. =fae o

C. Obtuse angle

| FHI0T o0 /T FITE, ST 0T TYLH HI0T T 0T 3172

What is the measure of an angle, which is half of its supplementary angle?

A 90°

T FANTET AR g 8-

A EHETT

B. 180°

B. #H1°T

Two congruent figures are:-

A. Unequal

7T AABC=APQR g, 9 PR a3TaY §:-
If AABC= APQR, then PR is equal to :-

A. AC

B. equal

B. BC

C. 60°

C. FATIITT

C. Proportional

D.

D.

D.

(k, k)

T+t (Al

afrerfir a8

Not defined

TATH

Cuboid

oot Fror

Complete angle

120°

TAH F FIT Aal
None of the these
QR
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T T AT & HI 3165 F TIITT H g, AT S FATHST HT GG FIE FHI0 FT AN 3§ -

If the angles of a quadrilateral are in the ratio 3:1:6:5, then the measure of smallest angle is :-

A 90° B. 24° C. 62° D. 18°
T UF FHAE a9t ABCD H £D=125° gI, Al LA FT HT9 g -
In a parallelogram ABCD if £D=125°, then measure of £ A'is -
A. 65° B. 125° C. 55° D. 75°
FT FHTAL FCHST aLaL ST I T U gf THIAL L@TA F S0 [T g1 37 eTRaAl 3T
AT & -

Two parallelograms lie on equal bases and between the same parallel lines. The ratio

of their areas is:-
A 12

A segment is the part between an arc and

A. Centre

B. 11

B. Chord

C. 21

C. Diameter

D. 31

D. fa=ar

D. Radius

I & Teh SAT ahf FTs 8 cm g TIT 39 g0l F=rsaT 5em, T 36 S(AT &l heg & 4 8-

The length of a chord of a circle is 8 cm and the radius of this circle is 5cm, then the distance of

this chord from the centre is :-
A. 3cm

B. 4cm

TG HT HI ........ AT S
A. I R

Angles in a semicircle are at ... angles.

A. Acute angle

B. THHTOT

B. Right angle

C. 10cm

C. srfera FIr

C. Obtuse angle

T2 a, b 3T ¢ T S & T AT 6 4TS &, ql:-

If a, b and c are the lengths of three sides of a triangle, then:-

A.
F 1T T TH{GTTSTH

a+h>c

B. a-b>c

A. I T T AW H aredr g

C. asiTbamMEr

The bisector of the angle
A. Divide the angle in two parts

C. bothaand b

C. a+bh=c

B. I T &7 a¥TaX RN | Afedr §

D. 12cm

D. TuT &IT

D. a-b=c

D. SUUIh H ¥ &I Aal

D. Complete angle

B. Divide the angle in two equal parts
D. none of the above

10 cm ST aTel FHaTg st &1 IR =T ZR?

What will be the perimeter of an equilateral triangle with side 10 cm ?

A.

20 cm

B. 30cm

C. 40cm

D. 35cm
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34,

35.

ERA AT H 'S'HTE ?
A BqsEreEwa B, B wEr AR C. B w1 g aRATT D TAH ° IS A8l

What is "S" in Heron's Formula?
A. areaof triangle B. perimeter of triangle C. Semi perimeter of triangle D. None of these

U = & FAT2T 10 cm g T IEHT 9P TSI &% g[IT-

Curved surface area of a cube whose edge is10 cm is:-
A. 40cm? B. 60 cnv C. 400cnm? D. 600 cm?

T AT 100-120 FT a9 =g 2:-
The class mark of the class 100-120 is:-
A. 105 B. 110 C. 115 D. 120

2,3,4,5,0,1,3,3,4,3 T HTA %’:—
The mean of the data 2,3,4,5,0,1,3,3,4,3is:-
A 2 B. 2.2 C. 24 D. 2.8

ATFST 4,6,8,9,11 FT ATEAF &:-
The median of the data: 4,6,8,9,11 is

A 6 B. 8 C. 9 D. 11
U AT AT T ATAHAT gt g

The probability of an impossible event is:-
A 1 B. 0 C. 12 D. 2

T U g 7 &7 A IFYTAT 1T &, A TROMHAT 6l T ST 5
If a coin is tossed twice, then the total number: of outcomes is:-
A. 2 B. 4 C. 3 D. 1

e o foheenT F9rvera TE |1 gR?
Which of the following has terminating decimal expansion?

A 111 B. 9/25 C. 3113 D. TH ¥ FIs A2l

JgIT 3X - 2 FTLAF @
The zero of the polynomial 3x - 2 is
A 2 B. -3 C. 23 D. -2/3

62 + 5x— 6 T TUHET
Factorisation of 6x2 +5x —6 is
A (2x+3)(3x+2) B. (2x+3)(3x -2) C. (2x-3) (3x+2) D.zaH ¥ FIE Tl
Aer® (-2,4) FTTE
The abscissa of coordinate (-2,4) is
A -2 B. 4 C. (4-2) D. THH ¥ &I Aal
7f3 fdg (3,4) iseor 3y =ax + 7 wx Roya g, a7 a FT 919 01T

If the point (3,4) lies on the equation 3y = ax + 7 , then the value of a will be
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36.

37.

38.

39.

40.

A 3/4 B. 3/5 C. 53 D. 3/7

55° T qZa HI0T &

The complementary angle of is 55°

A 25° B. 35° C. 125° D. 135°
=T ABC HAB=BC T 2B=70°g,da £ A TRI&X &

In triangle ABC , AB =BC and 2 B =70°. Then 2 A is equal to
A. 80° B. 40° C. 55° D. 45°
T A 6 A1 R0 75°,90° 3T 75° ¢, AT TEHHT ATAT FHI0T 8-
Three angles of a quadrilateral are 75°, 90° and 75° then the fourth angles is
A. 90° B. 95° C. 105° D. 120°
Aws 2,3,5,2,5,7,5,4,5,5,6,5,4,1,5 H 5 &I IrEvamar g
The frequency of 5 in data 2,3,5,2,5,7,5,4,5,5,6,5,4,1,5 is
A 7 B. 5 C. 4 D. 3
T e AT 100 I STTAT 9T I 60 F1 ITH gral g , AT = i Jrrrewar g

A coin is tossed 100 times and the tails are obtained 60 times, then probability of head is —
A. 60/100 B. 40/100 C. 100/100 D. 98 ¥ &I Aal

Page 5 of 6



Answer Key

Ans

Q. NO.

31

32

33

34

35

36

37

38

39

40

Ans

Q. NO.

21

22

23

24

25

26

27

28

29

30

Ans

Q. NO.

11

12

13

14

15

16

17

18

19

20

Ans

Q. NO.

10
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SIRAUS AMSID 3loferIo] Bd UfSrsIvr ufng, it

(2024 -25)
Model Question Paper 2024-25
DEI -9 Tereer - Terstror A - 1 T 30 fdtolc UUIicb — 40
Class-9 SUBJECT-Science TIME- 1 Hour & 30 Minutes FM- 40

ARG fo1dor:-
® S UGl U A Pl 40 U%1 8 |
o 73t uvat aiforart 31
o  URID Ul & fe1u 2 3icp foreri¥e 31
o URID Ul & o ar fddcy I3u s1e &, 213t fdacu ol RIel d3 |
o IIcIA IR O fe1e DIS SBUIcAD 3D ol8l 3l
General Instructions: -
e There are 40 questions in this question paper.
e All questions are compulsory.
e [Each question carries 2 marks.

e Four options are given for each question, choose the correct option.
e There is no negative marking for wrong answers.

1. Weeds affect the crop plants by
a) Killing of plants in field before they grow
b) Dominating the plants to grow
c) Competing for various resources of crops (plants) causing low availability of
nutrients
d) All of the above

TR B & Giel &l gHad id &
a) GiYl &1 9 ¥ Ugl &1 AR & ¢
b) glel I Soor & AT g1 FT & &
c) wael (el & RAffesr gareET & v gfaeget s&a § Soad v
dcal T HF 3TeTeEdr gldr &
d) 3UeFd T

2. Exotic breed of poultry bird having high egg laying capacity is
a) White leghorn
b) Broilers
c) White Cornish
d) New Hemisphere

qrecr el & faceft sver f9Te 373 &o7 &r &3 dr 31T gIdr &
a) TEISC odllel
b) ST
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C) SBIBC eIl
d) =g gfAThI

3. Which one of the following species of honey bee is an ltalian species?
a) Apis mellifera
b) Apis dorsata
c) Apis florae
d) Apis cerana indica
AYAFE! I AT Tt # & e @ Teh garerdt Forifad 872

a) ufrw AR
b) Tiaw sR@Ter
c) Tfad weRT
d) T JEAT SiSehr

4. Gunpowder is
a) Element
b) Compound
c) Mixture
d) Liquid
aT%G BT 8
a) dcd
b) TR
c) Fsor
d) ael

5. The percentage of copper and oxygen in the samples of cupric oxide obtained by
different methods was found to be the same. The law which is confirmed by this is
a) Law of indestructibility of matter
b) Law of multiple proportions
c) Law of constant proportion
d) Law of inverse proportion

fafdeer fafat & grea Fgolier 3feaEss & F H HIaT 3R HeFdrore S
fderd AT T & 1S 95| sud forg f9ge dr @yfte gl & 95 &

a) ged T AR 3reTeaxdr & gH

b) IO eguTd FT fATH

c) FeR 3rgura &t s

d) gcshH 3UTd HT fgH

6. How many times is the mass of a proton greater than the mass of an electron?
a) About 200 times
b) About 2000 times
c) About 1000 times
d) About 100 times

WIele &l GeHATT Soaeld & GedHlel ¥ fardsir I giar 872
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a) SETHIT 200 O
b) SETST 2000 I[UT
c) ST 1000 I[Om

d) STsTeT 100 IqOm

7. In the given distance-time graph, the value of speed is-
a) 32 m/s
b) 5 m/s
c) 8 m/s
d) Zero

feT 9w gft -g\g WS A T FHT AT B-
a) 32 m/s
b) 5 m/s
c) 8 m/s
d) =

8. In uniform circular motion
a) speed and velocity both remain constant
b) speed and velocity both remain variables
c) speed is variable and velocity is constant
d) speed is constant and velocity is variable

U AW JAT Afd A

a) arel 3R 91 At 3R W &
b) TTer 3R 497 = W W &

) ATl W 3R I 3R WA &

d) ITeT 3R 3R 99T W B &

9. Which of the following is incorrect pair?
a) Chloroplast - kitchen of the cell
b) Mitochondria-powerhouse of the cell
c) Lysosome-secretary granuals
d) Nucleus-brain of the cell

fAmfaf@a & & i a1 goa Ierd 87
a) FARITART - FIfART &7 IHTER
b) HTSCIPI=aAT - HITABT T JTARE3H
c) TSANH - FTdTl HivIehre

d) S - FHIART FHT ATTSH

10. Root hairs of plants absorb water from soil through
a) Diffusion
b) Imbibition
c) Osmosis
d) All of the above
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glel & Ao UF fACE & ST &1 3aenfg ad §
a) faazor
b) 3Td:eNyor
C) IrEIuT
d) 3ugerd @l
11. Which of these is not related to endoplasmic reticulum?
a) It behaves as a transport channel for proteins between nucleus and
cytoplasm
b) It transports material between various regions in cytoplasm

c) It can be the site of energy generation
d) It can be the site for some biochemical activities of the cell

ST § il TSITellioH Yehord & AT T 87
a) g AMAS 3R HIAFT g & &IT YT & TolT Th IRAG doddl b
¥ H YAgR AT ¢
b) T FRHT ger F Affe &t & g @l w1 aRage Far @
C) TE Foll 39T HT T gl Thdl ¢
d) IE HIRIHT T Fo Std IH A TATATELT T Tl & Hehell &

12. Who discovered the nucleus of the atom?
a) Rutherford
b) James Chadwick
c) Neil Bohr
d) Thomson

AT & AfAS HT Tl fohgar hr A2
a) TS
b) Si=g dsfas
c) el §R
d) ATHAHT
13. Elements having the same atomic number but different atomic masses are called
a) Allotropes
b) Isotopes
c) Polymers
d) Isobars

38 dea TSeTeh! TAT] HE&AT AT W WA geddAq feed 8l § hedld o
a) IET
b) THEUTH
C) Sgelsh
d) HAHARISR
14. What is the maximum number of electrons that can be present in orbit 3 (M shell)

a) 2
b) 8
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c) 18
d) 12
HeT 3 (M qeT) F Jhdx fhder Soiagial I Thd & ?

a) 2

b) 8

c) 18

d) 12
15. If aforce of 1 N is applied on an object of mass 1 kg which is free to move, then
ol a) move at a speed of 1 m/s

b) move at a speed of 1 km/s

c) move with an acceleration of 10 m/s2
d) move with an acceleration of 1 m/s2

I 7T FXeT & AT FadT 1 kg gegdA=T AT fhEly arg W 1 N &7 5
IR ST Al 98

a) 1 m/s &7 a8 & aifa Il

b) 1 km/s &1 arer & I1fa LI

c) 10 m/s? & cavor & aifasier gefr

d) 1 m/s? & caror & aifaeher grefr

16. Property of inertia
a) Occurs in some objects
b) Occurs in every object
c) Does not occur in any object
d) Occurs only in moving objects

STScd T I[OT
a) frei-forely avq # gar &
b) Wl g H g 8
c) fohel off avqg & =¥l glar @
d) hael el a&g # gar ¢
17. How much force is required to produce an acceleration of 4 m/s2 in a ball of
mass 6 kg?
a) 48 N
b) 24 N
c)12N
d) 6 N
et 6 kg gTATT &Y 3 H 4 m/s? HT caUT 3cded I & AT fhcder o
I HTGIHAT g2
a) 48 N
b) 24 N

c) 12 N
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d) 6 N
18. The xylem is made of
a) Tracheids
b) Vessels
c) Both of these
d) None of these

S fFaEd ST 8iaT 872
a) cfhsd

~ ~

b) arfgerrd
c) ¥ a=r
d) 3T & HIg Er

19. Tendon is a structure which connects....
a) A bone with another bone
b) A muscle with a bone
c) Nerve with a muscle
d) A muscle with a muscle

&8 Ueh GITAT & ST SEdr ..
a) Teh g3l &l gadl 331 4
b) Te AU FI gIA A
c) dferr &I AUl &
d) T HFU FHT AU F
20. A person met with an accident in which two long bones of hand were

dislocated. Which among the following may be the possible reason?
a) Tendon break
b) Break of skeletal muscle tissue
c) Ligament break
d) Areolar tissue break

W@%WWW@'Mmﬁmﬁaﬁ@%ﬁm

TE| AFAfoi@d # & i 7 IHITAT HROT & TohdT &7

a) ¢ge1 ol

b) hepTel T ATEURM FcTeh T g

c) feremHT e

d) TRATGR Fdeh ol

21. The mass number of the nucleus of an atom of an element is 23 and it has 12
neutrons. What will be the atomic number of the element?

a) 1l

b) 12

c) 13

d) 14
Tl Tca & TRATY] & AHF T geadA= Fe&ar 23 § AR 38H 12 =i

g1 Tcd T YTATI] HEAT F4AT gran?
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a) 11
b) 12
c) 13
d) 14

22. On converting 300K to centigrade, the value will be
a) 300 degrees centigrade
b) 373 degrees centigrade
c) 27 degrees
d) 273 degrees centigrade

300K &Y TS H dcaley U AT a9
a) 300 f33fr &Is
b) 373 f3afr @rE
c) 27 33
d) 273 33 &éRis

23. What will be the number of moles in 96 grams of carbon?
a) 44
b) 12
c) 8
d) 16
96 IUTH FIT H Al I TEIT FAT gIEN?
a) 44
b) 12
c) 8
d) 16
24. The gravitational force between two particles is-
a) proportional to the distance between them
b) proportional to the square
c) inversely proportional to the square
d) inversely proportional

al Uil & 1T FTcarhyuT dof gIcl § 3eieh are T gll &
a) FHTITCAT
b) @t & FATIUT
C) g3 & SFeshATIITT
d) SchATTITAT

25. If a spaceship is at a distance of twice the radius of the earth from the centre of
the earth, then its gravitational acceleration will be
a) 2.45 m/s2
b) 4.9 m/s2
c) 9.8 m/s2
d) 19.6 m/s2
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I IS FANETA G2l & hg ¥ gl 1 AT & Qi gt o g1 o 3He
T Ao gram

a) 2.45 m/s?

b) 4.9 m/s?

c) 9.8 m/s?

d) 19.6 m/s?

26. The relative density of a substance is equal to
a) Density of the substance / Density of the standard substance
b) Density of the substance / Density of some other substance
c) Density of the substance / Density of mercury
d) Density of the standard substance / Density of the substance

foreY gere 1 3mfee Tdcd SR g
a) 9erd &l Gslcd / YHIOIH Ui FT Gelcd
b) et T ueica / fonell gaEY Ferd @ Eele
c) U HI TdAcd/ IRT & Helcd
d) wefOre geret T Geica/ erd FT elca

27. The system of nomenclature evolved by Linnaeus is
a) Mononomial

b) Vernacular

¢) Binomial

d) Polynomial

fofagd ganrT [Asfad AmHSor yurel ¢
a) THUGT

b) TR

c) gfaudr

d) sgu<T

28. The basic unit of classification is
a) Variety
b) Species
c) Genus
d) Family

28. gafiehyor i HeT HES ¢
a) fores
b) werfa
c) SfieTd (T9r)
d) gRar

29. An angiosperm plant is characterised by:

a) Presence of flower
b) Seeds enclosed in fruit
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c) Fibrous/ tap root system
d) All of the above

ufoaegs gier &Y fFdwar g
a) %ol T IuTEAf

b) ®el & §g diel

c) WER/ ¢ & f{weH
d) 3Ted Teft

30. The chemical formula of calcium hydroxide is
a) Ca (OH)3
b) Ca 2 OH3
c) Ca H203
d) Ca (OH) 2

oA gISsIFAISS T TS FF §
a) Ca (OH)3
b) Ca20Hs
c) CaH203
d) Ca (OH) 2

31. A porter carrying a 20 kg box on his head walks 10 m on a horizontal platform,
the work done by the porter against the force of gravity will be —
a) 200 J
b) 2000 J
c) 1980 J
d)0J
379eT FT 9X 20 kg T ST 31T HI Fell HfcTsT Tolehd R 10 m T g,
Iecd Sl & ATy Fell eaRT AT a1 HR g -
a) 200 J
b) 2000 J
c) 1980 J
doJ

32. The kinetic energy of a 1 kg object will be 1 J when its speed is
a) 45 m/s
b) 1 m/s
c) 1.44 m/s
d) 4.4 m/s

1 kg &1 a&q #1 aIfdst 39T 1 J d9 gl STd SHhT @Tel Fraf
a) 45 m/s
b) 1 m/s
c) 1.44 m/s
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d) 4.4 m/s

33. If a machine takes 5 s to do 2500 J of work, then its power will be
a) 250 W
b) 125 KW
c)05W
d) 0.5KW

gfe 2500 J 1 T H fordr ALMT #F 5 s FT AT 97T & ar 3HPT
afFa grf

a) 250 W

b) 125 KW

c) 0.5W

d) 0.5 KW

34. Which one of the following causes Kala - Azar
a) Trypanosoma
b) Bacteria
c) Ascaris
d) Leishmania

AAf@d & ¥ S 9T FIAeIR FT HRUT F4dT 87
a) e

b) SFER=T
c) TERRE
d) oireAfaar
35. A communicable disease is caused hy
a) Metabolic disorder
b) Allergy
c) Pathogen
d) Hormonal balance

35. U HehlHe VI fhEeh SHRUT gidT 872
a) Ty AR
b) Tersif
c) ST
d) gr#feTer HJor

36. In a stethoscope, the sound of a heartbeat travels through the stethoscope tube
a) as a sonic boom
b) in a straight line
c) by repeated reflections in the tube
d) because of bends in the tube

Th TCATRT H, §8T & UShel T edfer TCATHIT ol H ITHA Il &
a) @fa & Star
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b) T Tl IWT H
¢) dell H IRER WIaieT &R
d) ell # {3 S & HRUT

37. What is the minimum distance a listener should be from the reflecting surface to
hear a clear echo?

a)1m

b) 17.2m

c)1.72m

d) 110 m

Tqse gideafe elrs usel & v eafel &l qRracisl $ie arell Tdg & AT &
HH- U- HH fohcdell gT glelr =1igT ?
a)1m
b) 17.2 m
c) 1.72 m

d) 110 m

38. In which of the following mediums will the speed of sound be the highest?
a) Sea water
b) Steel
c) Sulphur dioxide
d) Air
ATar@d J O fog #aregdm #§ oo 1 ara gaq sI1er gei?

a) THLT ST
b) &l
C) HeWI SBITFASS
d) gar

39. Solar radiation heat up
a) Land faster than the water bodies
b) Land slower than the water bodies

c) Equally both land and water bodies
d) Neither land nor water bodies

& fafeor ant aar &
a) ST ARl $T Jorar 7 qF I ol &
b) STeT Tt Y o F HF B N Ay A
c) A IR Tl A g=AT A TAR & 4
d) o ar A 3 o & ST Ahr i

40. Oxygen is returned to the atmosphere mainly by
a) Burning of fossil fuel
b) Respiration
c) Photosynthesis
d) Fungi
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ATl &I & ¥ aASST H a9g TdT &
a) Sfaned $9 & STolel o
b) 2TET &
C) TRl HINOT
d) $ash &

kK e K KK K 3k 3k 3k K K K K K K 3k K kK K K K 3k 3k e K K K K 3k 3k kK K K 3k 3k 3k Kk K kK Kk K 3k 3k 3k ok Kk
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Answer Key:

1 c 21 a
2 a 22 C
3 a 23 C
4 C 24 C
5 c 25 a
6 b 26 a
7 c 27 c
8 d 28 b
9 a 29 b
10 c 30 d
11 C 31 d
12 a 32 c
13 b 33 d
14 c 34 d
15 d 35 c
16 b 36 Cc
17 b 37 b
18 c 38 b
19 b 39 a
20 C 40 c
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SIRAAUS AfSID 3lofieriol Bd Ufdsur ufdug, it
(2024 -25)
UfeIG 9l U%I W1/ Model Question Paper

D& -9 fereer - 2wartSio fasirer AT - 1 €T 30 frote quticd - 40

Class-9 Subject- Social Science Time- 1 Hour & 30 Minutes F.M.-40

ATAT o1 :-
* SAUBIWIAPcI40 U3 1
o 3ft usst iforari a1
o URID Ul & fe1u 2 3ip forerifdad
o URID UK & [ ar fAddcu fausie 8, & fdabcu dpr aRIaT b2 |
® 3T ITR P [T DIS SBUICHD 3D ol8l 3 1
General Instructions: -
® There are total 40 questions in this question paper.
® All questions are compulsory.
® Each question carries 2 marks.
® Four options are given for each question, choose the correct option.

® There is no negative marking for wrong answers.

1. When did the French Revolution begin?

a) 1776 b) 1789
c) 1799 d) 1804
TRIHTET T Fe O g2
a) 1776 b) 1789
c) 1799 d) 1804
2. What does the term Bourgeoisie refer to in the French Revolution?
a) Nobility b) Clergy
c¢) Middle Class d) Peasants
HITET T | 9o 9Te3 HT F47 o1 572
a) Ferar b) aTET
C) HeT W a9 d) e
3. Which political club was founded by the Radical Jacobins?
a) Royalists b) Moderates
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c¢) Conservatives d) Jacobins

Fgqft ST o o TS e st T i o2

a) TST9<h b) IETATET
¢) wigarat d) Sifam
4. When did Napoleon Bonaparte declare himself Emperor of France?
a) 1799 b) 1804
c) 1815 d) 1821
AT SATITE o G& T 6 FT TS FHd qIT0d /T2
a) 1799 b) 1804
c) 1815 d) 1821
5. What is the Holocaust associated with?
a) World War 1 b) Russian Revolution
c) American Revolution d) World War I
BefrerTes e Heee 22
a) w9 o 15 b) ==Y wifa
¢) sy wify d) B a1
6. Which is the largest river in India?
a) Ganga b) Brahmaputra
c) Godavari d) Krishna
AT T qa8 S0 T4 -1 7
a) T DERKE
ORIEIEE d) Four
7. What is the latitudinal extent of India?
a) 8°4'N to 37°6'N b) 8°4'N to 35°5'N
) 6°8'N to 37°6'N d) 6°4'N to 35°5'N
e T wreAvefir T e 22
a) 8°4'N 7 37°6'N b) 8°4'N ¥ 35°5'N
¢) 6°8'N & 37°6'N d) 6°4'N & 35°5'N
8. Which is the northernmost mountain range in India?
a) Vindhyas b) Aravallis
c¢) Himalayas d) Western Ghats
AT T T8 AL Tad @AT -8 52
a) fex VEREE
¢) AT d) aferfy =me
9. Which soil type is most suitable for growing cotton?
a) Alluvial soil b) Red soll
¢) Black soil d) Laterite soll

FATH I 6 (T -t W g T 872
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a) STAtE gt HEIEREE

DEIEIREE d) srexrse fagr
10. Which river is known as the "Dakshin Ganga'?
a) Krishna b) Godavari
¢) Kaveri d) Mahanadi
Tore &1 T "STE00T ST 3 ATH " ST ST g2
a) FouIT YRIEER]
c) et d) wETaT
11. What is the main feature of a democracy?
a) Rule by one-person b) Rule by military
c) Rule by the people d) Rule by religious leaders
AT T qed TAeraar #4772
a) Teh Tk gILT ATaH b) |AT STIT aTEA
C) ART GTT 9TTHE VEUEECIE AR EIGE]
12. What is the term used for a system where people elect their representatives?
a) Autocracy b) Democracy
c) Monarchy d) Oligarchy
THT STOTeAT 3 TorT T ore SEqATe T SITar & STgl T orae ITAf= et 7 9= F:ied 82
a) fAieperar b) ST
C) TTSLTRT d) Fetaas
13. Which country is an example of a direct democracy?
a) USA b) China
¢) India d) Switzerland
FIA-HT T T ATHTT T IATEL g2
) AT b) =
C) ATET d) Faeseaie
14. When was the Indian Constitution adopted?
a) 26 January 1947 b) 26 January 1950
c) 15 August 1947 d) 26 November 1949
AT HAGTT Fd FAATAT 7T AT?
a) 26 AT 1947 b) 26 ST 1950
C) 15 31TEq 1947 d) 26 qEET 1949
15. Who is considered the architect of the Indian Constitution?
a) Mahatma Gandhi b) B.R. Ambedkar
c¢) Jawaharlal Nehru d) Subhash Chandra Bose
AT | T FAar e 747 Srar 82
a) WETHT et b) &T.31T. ST
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C) STATELATT Ag& d) TATT =% a9
16. What is the main occupation in rural India?

a) Industry b) Services
c) Agriculture d) Mining
THIOT A | T HaqT #7872
a) =T WEENY
¢) For d) @«q
17. What is the term for the money spent on producing goods and services?
a) Investment b) Income
c) Expenditure d) Capital
FEQRT ST HATS * ICATEA I @A [T T & il F9T Fgd 52
a) aer b) ==
c) = d) gt
18. Which sector is known as the primary sector?
a) Manufacturing b) Agriculture
c) Services d) Construction
TR &7 T YT & F €9 § ST 11 872
a) fafamior b)
DEELY d) fReToT
19. What is the literacy rate of India according to Census 2011?
a) 74.04% b) 65.38%
c) 84.12% d) 72.36%
STRTUET 2011 % STIETE ST ol ATl &2 T 82
a) 74.04% b) 65.38%
c) 84.12% d) 72.36%
20. Which organization collects data on unemployment in India?
a) NSSO b) RBI
c) SEBI d) CSO
AT H SRS T 2T HIH-97 ToT THT HdT 62
a) NSSO b) RBI
c) SEBI d) CSO
21. The Tropic of Cancer passes through how many Indian states?
a)8 b) 9
c) 10 d) 11
Feh T Tohae AT TSAT & ZIohT [Tl 572
a)8 b) 9
c) 10 d) 11

22. What was the main aim of the Green Revolution?
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a) Increase industrial production\ b) Reduce pollution

c) Increase service sector output d) Increase agricultural production
ST HITT T T 329 FIT 4T?
a) TR IeaTeT FEET b) T FH FHIAT
C) TAT & FT IUTaH FETT d) FTr IcaTET T@™T
23. Which fundamental right ensures equality before law?
a) Right to Freedom b) Right to Equality
¢) Right to Religion d) Right to Education
FI-HT HITeTh ATIRTE HIGT F THEA THAAT GATHT FLAT 872
a) TAAAAT T AfAFT b) FHTHAT T TfAFTT
C) & T ATEFRTT d) fore =7 srfaerRTT
24. What is the term for resources that can be replenished?
a) Non-renewable resources b) Renewable resources
c) Fossil fuels d) Reserves
I FETEAT o o710 F4T 9751 g (Srenl T I ol ST Fehelt 52
a) Aoty g9req VEEIETSIRREIRE
¢) sframed See d) e
25. What was the symbol of the Nazi Party?
a) Hammer and Sickle b) Tricolor
c) Red Flag d) Swastik
TSI 9TET T T AT IT?
a) ZATET 3T T b) faam
C) AT =T d) FaTEd®
26. What is the official language of India?
a) English b) Hindi
c) Bengali d) Tamil
ATEA T SATTERTI qTHT T 82
DELEL b) &t
DERIEI d) afeer
27. Which event is considered the start of World War 1?
a) Bombing of Hiroshima b) Battle of Verdun
¢) Invasion of Poland d) Assassination of Archduke Franz Ferdinand
7 =eaT &1 wue o 5 T [esa AT ST g2
a) RO o2 swarr b) & &t A=
C) T g U< ATHAT d) SITHSIF ShIST FHiede il geaT
28. Which layer of soil is most fertile?
a) Topsoll b) Subsoll
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c) Bedrock d) Regolith
gt 7 FI-H 7T q99 ITATS: 272

a) T oy b) el sy
C) ATLTIAAT d) mrferer
29. Who is responsible for the implementation of laws in India?
a) Judiciary b) Executive
c) Legislature d) Police
A § FIAT F HIATGAT o o0 DI SRR g2
a) =TIYTIeTeRT YEIREIEED
DAEEURED d) I
30. What is the primary source of energy in rural areas?
a) Coal b) Electricity
c) Biomass d) Wind
TTHTOT 2137 | 1T T ATATHE &1 F47T 82
a) AT b) fersteft
¢) ATTTHTH d) Taq
31. Where is the Wall Street Exchange?
a) America b) Britain
c) France d) Germany

AT Tele UFTAS Fgl 8?2

a) AT b) fores
c) e d) ST
32. Which method of cultivation was adopted by the white settlers in the USA?
a) shifting cultivation b) primitive cultivation
C) intensive agriculture d) none of the above
T 5T FTHIHT | T ATtaa | g @t & wia-d1 &t srare T o2
a) AT gl b) sfaw &T
c) T FHfT CESEEEIERED
33. The wind blowing in the northern plains in summers in known as -
a) Kaal Baisakhi b) Loo
¢) Trade winds d) None of the above
AT | I HSTHN § T&7 ATAT ZaT &l FAT Fgd & -
a) T SaTEt (b) T
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c) SATATI Zard O ESEEEIERE

34. Which one of the following causes rainfall during winters in north-western part of India?

a) Cyclonic depression b) Retreating monsoon
c) Western disturbances d) Southwest monsoon
Aorforfaa § o F9-8a7 9 % STC-ai2rdy arr § gt F O auT HT /107 99d7 572
) EEEIIEEEE b) T gt ATHA
ORICEIRELIE] d) Tferor-afzre e

35. Migrations change the number, distribution and composition of the population in?

a) the area of departure b) the area of arrival
c) both the area of departure and arrival d) none of the above

TATE | FHIF-H &7 § TAEEAT i GeAT, fAaeer T §9=41 § 9Radq grar g ?
a) TEITT T & VENGEEIRES

C) STEAT ST ARHA I &7 &3 d) =9 ¥ FIE ARl
36. What is a poverty line?
a) The line that separates the rich and the poor
b) The line that represents the average income of a country
c¢) The minimum level of income required to meet basic needs
d) The maximum level of income beyond which one is considered wealthy

T YET FT §?
a) 9 @ ST 3T ST TS &l ST el o
b) g Y@T ST FoReT <97 T i |a T il 29Tl §
c) FAATET TETAl &l TN HTA & [olT FEL AT FT FATH FqC
d) T 7 9 Aferway Ta¥ e a1 S A THE 7T 14T 8

37. Who among the following was not the member of the Constituent Assembly?

a) Mahatma Gandhi b) Rajendra Prasad
¢) T.T. Krishnamachari d) Pt. Jawaharlal Nehru
Ferferfera & & it 9o 97 % geer ag a7
a) WETcHT et VREER LS
c) Z1.&T. FOHTAT d) URq TaTgTaTd A8®
38. Apartheid in South Africa was discrimination on the basis of-
a) Gender b) Religion
c) Race d) Economic status
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Zferor erfishT ¥ e FT Aqad oJT-

a) fefr b) &
DS d) s Rafa
39. The Indian Constitution came into effect on-
a) 26 January 1949 b) 26 January 1950
C) 26 January 1952 d) 26 November 1950
ATLATT HET el AT geT-
a) 26 A< 1949 b) 26 ==Y 1950
C) 26 SHALT 1952 d) 26 T9=T 1950
40. Where was the 1931 session of Indian National Congress held?
a) Nagpur b) Delhi
c) Calcutta d) Karachi
AT TS FIUE T 1931 FT AT Fgh ArATHora AT T 97?2
a) YT b) fazet
C) FAdT d) FT=T

JHARKHAND COUNCILOF EDUCATIONALRESEARCH AND TRAINING, RANCHI



ANSWER KEY:

1 a 21 a
2 C 22 d
3 d 23 b
4 b 24 b
5 d 25 d
6 a 26 b
7 a 27 d
8 C 28 a
9 C 29 b
10 b 30 C
11 C 31 a
12 b 32 C
13 d 33 b
14 d 34 C
15 b 35 C
16 C 36 C
17 d 37 a
18 b 38 C
19 a 39 b
20 a 40 d
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